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1.)  Mark whether or not and why the following items are included in the calculation of GDP:

A. Increases in business inventories

B. Sales of existing homes

C. The fees earned by real estate agents on selling existing homes

D. Income earned by Americans living and working abroad

E. Purchases of IBM stock by your brother

F. Purchase of a new tank by the Department of Defense

G. Rent that you pay to your landlord

2.)  In 1979 the (short-term) nominal interest rate on three-month Treasury bills averaged 10.0%, and the GDP deflator rose from 50.88 to 55.22.  

a. What was the annual rate of inflation in 1979? 

b.  What was the real interest rate in 1979?

3.)  In 1998 the GDP deflator rose at an annual rate of 2.6%, and the short-term interest rate on three-month Treasury bills averaged 4.8%  

a. What was the (short-term) nominal interest rate in 1998?  

b. What was the (short-term) real interest rate in 1998?

4.   In 1992 both nominal GDP and real GDP measured in 1992 dollars were $6.244 trillion.  By 1997 nominal GDP had risen to $8.111 trillion, and the implicit GDP deflator had risen to 111.57.

a. What was real GDP in 1997?  

b. What was the average rate of real GDP growth between 1992 and 1997?

5.)  Use the data in the following table to answer the questions below:

	
	
	Real GDP
	
	Nominal GDP

	Year
	
	(Trillions)
	
	(Trillions)

	1960
	
	$69.6
	
	69.6

	1970
	
	$80.39
	
	82.8

	1980
	
	$100.4
	
	106.9

	1990
	
	$125.0
	
	125.8


a.  What was GDP deflator 1960, 1970, 1980, and 1990?  

b.  How much did GDP deflator change between 1960 and 1970?  

c. What was the inflation rate from 1970 and 1980?  

d. What was the increase in the cost of living and of cost production between 1980 and 1990?

6) What do you think would happen to a broad-based stock price index such as the S&P 500 under the following scenarios?  Briefly explain your response to each scenario.

a.  The Federal Reserve Bank announces an interest-rate cut

b.  The federal government announces a capital gains tax increase

a. Stringent new regulations on the coupling of computer software and sales of new   

computers are announced

d.   Oil prices skyrocket

7) Why might the annual interest rate paid by a 90-day Treasury bill differ from that paid by a 1-year T bill?  Explain.

